asym_usl

asym_dsl

asym_usr

asym_dsr

run6782 000 re

:

i —— —16(
[ =
6000 — —14(
4000 |- —12(
2000 [
o
2000
: |
~a000 |
=B000 — u
o |
B_DDD-IlllllllllllIII|III|III|III|I D
100 -80 2 -BO 40 20 O 20 4D
diff_bpmXum
| I
| |
1000 14
- —12¢
500 ~ -
[ 0 —10c
ol |
- |
~500 -
1000 u
i 20
[ n
1EDD_III|III|III|III|III|III|III|I D
100 -80 2 -BOD 40 -20 O 20 4D
difi _bpm1Xum
d.
BOO0
- —16¢
6000 I~ “n .L 14
4000 —12¢
| |
2000 [
op
. m
~2000 [~
B ]
-4000
-ﬁmn:— n n 20
I T T N e o
100 -80 -BO 40 -20 O 30 4D
diff_bpm1Xum
l
i —{12¢
1000
- —10c
500 —
o __ [ |
[ m
~500
1000 F
i ] u
- EE
~1500 | N
_I 1 1 | L 11 | L 11 | | | | L 11 | [ I | L1 1 I |

=100

oression ™ "“"‘a“SVIl'l main

-80  -60 -40 W20

[ —10( [ = B
6000 — 6000 [~ 14 6000 [~ —180
4000 s000 12 4000 | -7
i —&0 i i
. . [ —60
2000 2000 100 2000
- - - m
B &0 B B 50
o o e
. _ - 40
~2000 40 ~2000 ~2000 [~
- - - an
4000 - _apon _apon -
- - - 20
i 20 i B
6000 |- ~6000 [~ u 6000 - 10
- - | - |
_B_DDD-IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ _B.DDD-lllllllllIIIIIIIlIIIIIIIlIIIlI _BDDD-Illlllllllllll|IIII|IIII|IIII|II D
40 =30 -20 -10 O 10 20 30 40 50 -100 -8B0 -60 -40 -20 O 20 40 a0 =20 =10 ) 10 20 30
diff_bpmdaYium diff bpmdeX/um diff_ bpmdeYium
diff _ diff_bpmdeX diff_
| —'EH} | I | —gﬂl
. . —{14¢ .
1000 —80 1000 1000 [~ —&0
- - —{12¢ i
! - [ i —{70
500 500 — n 500 -
- eo - m 100 _ oo
| = = . [
ok o ™ oF
[ | [ [
~B00 - =500 =500 —
i 20 i . 20
~1000 ~1000 ~1000
[ m [ [
- E E = 0 - n i n n 10
1EDD_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ _1EDD_|III|III|IIIIIIIlIIIIIIIlIIIlI ﬂ _1EDD_IIIIIIIII|IIII|IIII|IIII|IIII|II D
40 -30 -20 -10 O 10 20 30 40 50 -100 -B0 -60 -40 -20 O 20 40 a0 20 -10 ) 10 20 30
diff bpmda¥ium diff bpmdeX/um ditf_bpmdeYium
diff _ diff _ diff _ hpmélcY
8000 BOOD _ BO00 |-
A A et A %0
- —{10c - -
6000 — BOO0 ~ —{14( BOO0 ~ —an
4000 oo 4000 |- —12c 4000 [ " 70
| B N | | |
- - - . _EI'D
2000 [~ 2000 [~ 2000 [ -
i 60 i i " |50
o o o
_ C n . 40
- 2000 | 40 -2000 ~2000
- - - 30
~4000 - 4000 — =4000 ~ 20
- 20 - _
~6000 O 6000 m 1 -6000 |- = = 10
Gl b b b b e brrea b 0 o o o v v oo beaa e o b 0 oo b v br e by r e by oo b o
40 -30 -20 -10 O 10 20 30 40 50 -100 -BOD -60 -40 -20 O 20 40 A =20 -10 ) 10 20 a0
diff_bpmdaYium diff_bpmdeX/um diff_ bpmdaYium
] diff _ diff_bpmdeY
| I | I | I _B.D
B —{a0 B —{12¢ B
1000 1000 1000 —70
i —a0 i N
. i {100 i
_ _ _ _ —60
500 0 500 — 500 |-
B —{ 60 B B —{50
[ = [ m N
or = 50 or n or
; . ; N 40
- ¥ 0 = i
=500 r‘ =500 j‘ =500 r‘ an
B 0 B B
- - - 20
~1000 — . 20 ~1000 ~1000 [~
i i n" i
- | E N 10 - E_EHN - | ] | 10
~1500 |- ~1500 m ~1500 | m
_IIII|IIII|IIII|IIII|IIII|IIJ_LlIIIIlIIIIlIIII B III|III|III|II ;L IIIIIIIlIIIIlIIII|IIII|IIII|II
40 30 -20 -10@ 20 =10

detvs d

ﬁsf"_;ﬁ Lﬁﬁmﬁ i

-
N

- POS

tpan.png

6000

4000

2000

=2000

-4000

~6000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

—-E-I}EIU 1 | 1 1 1 1 |

di

B [ |
1000 —
200
o F
i [ |
=500 —
=1000 —
: u
—15':“:' i | | 1 1 1 1 |

50 100
diff_bpm12X/um

3

= 2000

=4000

~6000

50 100
diff_bpm1 2X/um

ol

1000

200

-500

=1000

=1500

50 100
diff_bpm12X/um

-100 -50

50 100
diff_bpm12X/um

100

70

20

10

101

0

20

10



" " —ag " : "
N — — —12C N —
4000 —ya¢ 4000 4000 4000 |- m 0 4000
- n 80 n - n
0o 3000 3000 ior 0o 3000 —
- —{101 - —70 - B | —60 u
2000 2000 2000 2000 2000
: : e : : 50 :
o000 - M 1000 oo M 1000 u 1000
- - 50 - - N 1 N
oF o oF oF . 0 oF
reg_asym_us ; ; ; ¥ i
— — -1000 -1000 1000 1000 m 30 -1000 -
2000 | ~2000 ~2000 | 2000 | o0 ~2000
N — 20 — N —
-3000 -3000 -3000 -3000 . o -3000
- n - . 10 - n - -
—4000 | - -4000 | - ~4000 | ~4000 | - -4000 |

-III|III|III|III|III|III|III|I D —IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ —|III|III|IIIIIIIlIIIFIIIlIIIlI -IIIIIIIIIlIIIIlIIIIlIIII|IIII|II D —I|IIII|III IIFI ﬂ

-100 -80 -BO 40 -20 O 20 40 40 -30 -20 -10 O 10 20 30 40 50 -100 -80 -60 -40 -20 O 20 40 -3 =20 =10 0 10 20 an -100 50 u mn
diff_bpmXum diff_bpmdaYium diff_bpmdeXium difi_bpmdaYium |Il_hprn1 2xfum

a
E
.E

i — [ [ — —14( i [ —
[ . . [ —&0 . ]
] — ] H |
1000 14( 1000 80 1000 iz 1000 1000 70
- - _ - - __I,F_D -
: rax : * : : : R
500 |- 500 |- oo 500 |- —10c 500 [~ —an 500 -
5 "l - " o i . - " 0 i >
[ = [ £ [ = [ | 50 [
or or or or 3 or 40
N N 40 N N A0 N
reg asvii dSl : : " - . 1 - - .
— — C - - C u N - 30
~500 ~500 a0 ~500 ~500 - a0 ~500
[ | | [ | 20
[ C 20 . _ . 20 -
1000 ~1000 ~1000 ~1000 . ~1000
i 20 i - i - 10
- - E = '=m 10 - n - n m "n 10 -
1EDD_III|III|III|III|III|III|III|I D .15[:”:'_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ _1EDD_|III|III|IIIIIIIlIIIIIIIlIIIlI _1EDD_IIIIIIIII|IIII|IIII|IIII|IIII|II D _.15|:IU_I|IIII|IIII|IIII|IIII|I ﬂ
100 -80 2 -BOD 40 -20 O 20 4D 40 -30 -20 -10 O 10 20 30 40 50 -100 -B0 -60 -40 -20 O 20 40 a0 20 -10 ) 10 20 30 100 50 ) 50 100
diff boml Xium diff bpmda¥ium diff bpmdeX/um ditf_bpmdeYium diff_bpm12X/um
diff_ diff_ diff_ diff_ hpmélcY diff_
- —14( - - - - —70 - —70
4000 & 4000 & £000 & 1 4000 | 4000
3000 —12t 3000 3000 3000 - —[60 3000 —[B0
- - = —70 - ke - - =
2000 —ipt 2000 " 2000 2000 —I50 2000 m —{50
- - = - - - o ¥
1000 1000 F 1000 1000 1000 F
- - | - - 40 - .
0 " ] o " ] o W
C m n n C = n n
C n n C 30 " m
— — -1000 -1000 -1000 -1000 1000 T
-2000 ~2000 = ~2000 - 2000 20 ~2000
N - 20 - N -
-3000 -3000 -3000 -3000 10 -3000
- - n 10 - - -
n n n n n m
~4000 ~4000 | -4000 -4000 ~4p00 |
ool v aa v v e by e e by o co o b b bey o beeoa b e b 0 Lo a oo tr e v v v b b o b AN EEEEEEEEEEEEEEEEE NN NN N NN o 1 I N T T M A N A A N T I B O I A O B 0
100 -80 -BO 40 -20 O 30 4D 40 -30 -20 -10 O 10 20 30 40 50 -100 -BOD -60 -40 -20 O 20 40 A =20 -10 ) 10 20 a0 100 _50 ) 50 100
diff_bom1Xium diff_bpmdaYium diff_bpmdeX/um diff_ bpmdaYium diff_bpm12X/um
diff _ diff _ diff _ diff _bpmdeY diff _
| I | I | | I | I
- % - —e0 - 12 - 8o -
- - - - - —&0
1000 1000 g 1000 1000 [ 1000
_ | _ _ _ 7o _
B 1ot B B —{10t B B
- | = —70 | - _ 50
500 — 500 500 — 500 |- —60 500
= L _E_D L = L
B I i i i i i B 50 B 40
°r u o .. 50 or b or m
reg_asym_dsr - | 2§ L | _ ;
— — =500 ~ =500 — =500 — =500 — a0 =500 ~
i - 30 - i - 20
-1000 - N -1000 20 ~1000 [~ ~1000 [~ 20 ~1000 -
- u - " - - o - 10
. C 10 [ _ _
EE n E N n u n
~1500 | " ~1500 ~1500 | ~1500 | m ~1500 |-
_III|III|III|I I|III|III|III|I _IIIIIII|IIII|III_|J_|III|IIII|IIII|IIII|IIII _ll _IIIIIIIII|IIII|IIII|IIII|IIII|II _I|IIII|IIII|IIII|IIII|I ﬂ
o0

-20 100 50 D 50 100

- postpan:png

run6782 000 resression tes maindet:vs diff bom-€



asym_usl

asym_dsl

asym_usr

asym_dsr

run6782 000 reﬁressmn asvym maindet v

6000

4000

2000

2000

¥2 /[ ndf 14.42 /21

pO -14.611£ 16.58

p1 -50.84 £ 213

1

=100

-80 -60  -40

-20 1] 20 40

diff_bpm1X

¥/ ndf
p0

p1

11.94 /21

-3.912 = 3.588

0.4945 = 0.4639

200

100

1]

=100

=200

:

~
=
=

80 -60 -40

=20 1] 20 40

diff_bpm1X

%2 / ndf 15.05/ 21
p0 9.494 % 16.262 fﬂr{
p1 78.32 £ 210
[ 1
-2000 - HHJr
4000 _—
<5000 — _
i VN TN T T T T T A I O O Y
=100 =80 —E —4{} =2 1] 20 40

diff

600
400

200

=200

=400

hple

1=/ ndf 232/ 21
po 4.386 = 4137
p1 —0.5888 = 0.5262

g

B0 60 40

20

diff_bpmdaY

2indf 46.33/38
PO  —8.175+ 17.120
p1 24.88 + 2.20 } __+
'1'|}|:I|:|:— H}
X J }
H
C - + i -
—'1-I]DU:— ]l‘w
_E.DDD-I-_||||||||||||||||||||||||I||||I||||||||||||||

-40 30 20 <10 O 10 20 30 40 50

diff_bpmdaY

¥2 | ndf 37.18 /38 }
po -2.373 + 3.582

p1 0.5746 + 0.4540

: ++
u NI M
oF w diiin
—E{FD_— H | | B
—WU_—
1|||||_|||||||||||||||||||||||||||||||||||||||
-40 =30 =20 10 0 0 20 30 40 50

diff_bpmdaY

%2/ ndf 77.36/ 38

p0 2 263 + 17.405

p1 46.59 + 2 26 i {
of

—'1-DDU:—

—E-DDU:—
Lol b beonr b benve bvia bava b
=40 =30 =20 =10 0 1m 20 a0 40 50

91.

iff_bpmd4aY

B 72/ ndf 4714/ 38
600
- p0 3.264 +4127
400
i p1 —0.5846 £ 0.5314
200 - H -
T H{“ AL Jmﬁ .
T | .
D'_I—||||||||||||||||||||||||I||J_LI||||||||||||||

E

bpmdeX

[ - ¥2 | ndf 14.83 /22
G000

I p0 -15.28 + 16.63
4000 B o p1 -4551 + 1.98
2000 B 'k

=
L
e

i

Lo v b b v b a b g g
=100 -80 -60 40 <20 0 20 40

diff_bpmdeX

%2/ ndf 29.78 122

= 2000

po —-3.737 + 3.577

pi 0.3799 + 0.42R89

_ #+
L

-100 -80 -60 40 <20 1] 20 40

diff_bpmdeX

¥Z / ndf 23.53/ 22

100

0

=100

=200

-300

p0 10.05+16.10 ﬂj‘”
p1 7563 +1.91
I 4
~2000 |- hhﬂ
4000 |-
=B000 — _
TN AT T A A T T T A O A A O

-100 -80 -60 40 <20 1] 20 40

iff bpmdeX

°-.

600 B 7= | ndf 18.25 /22

- po 4076 +4.135
400 .

| ] p1 -0.5233 £ 0.4868
200

- ) ]l - _

0 _— M N t

_200

diff_bpmdeY

%2/ ndf 28.78 / 40

pO -6.293 £ 17.072

p1 36.55 + 2.76 |
1{?00:— {w
n:— ¢ 1
-mnn:— ) [
_E[m[];||_||||||||||||||||||||||||||||||
=30 =20 =10 1] 10 20 an
2 / ndf 55 53/ 40
p0 -3.313 + 3.569 | i
p1 0.8741+ 0.5679 )
T T g
I iy + W‘
i + -
~ 400 — }
:I L1l I L1 11 I L1 11 I L1 11 I L1 11 I I_I L1 I L1
=30 20 =10 1] 10 20 a0
¥2 / ndf T 4034740
PO 7177 + 17.088 } i
p1 68.44 + 2.76 | .
K I -
oF 1 H
1000 [ }M‘
~2000 1
—apoo | |
E|||||||||||||||||||||||||||||||||
~30 20 =10 1] 10 20 an
I 2 { ndf 26.85 / 40
400 |- p0 2.434 + 4.128
[ - pl  —0.4443 + 0.6665

E”'“‘| N i M
NN

=]
1 T T 1

=200

s diff ‘bpm:fit postpan.phe

diff_bpm12X

6000 } 2 | ndf 43.47 | 41
i '_Jﬁ p1 -37.72 + 0.58
2000 }
oL
i +
2000
i ’rﬂ{Jw(H}-
i bt
4000 —
B | | | I I | | L1 1 1 | | I . | | | I . | | 11
=100 =50 1] 50 100
¥2 | ndf 4? 88 [ 41
po ~-3.471 + 3.566
p1 0.2646 + 0.1572
e[S ‘ ‘I {
ﬂ:_ {_ {} h {
=200 _—
i f
~ 400
[ | | L1 | | | L1 1 1 | | L1 | | | L1 | | | |
=100 -850 1] B0 100

d

P
:

sobo ™, %2/ ndf 49.89 / 41
4000 [ - p0 —0.1559 + 13.3084
SN
LTy p1 —41.45 + 0.58
2000 ]l
D |
=2000 t ﬁ-“-l_"l &
_4000 ]l
_E,Dnn_lllllI|IIII|IIII|IIII|II
100 _50 ) 50 100
diff bpml2X
¥/ ndf 41.63 / 41
po 4711+ 4115 i

p1 0.007426 + 0.178642

T Wit
ﬂWWMWH 3
o |

-100 -50 1] 50 100



reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

run6782 000 reg

%

2000

1500

1000

500

=500

bpm1X

¥2 { ndf 19.04 / 21
pO —-9.804 £ 12.070

p1 —0.03967 + 1.54612

i

~
=
=

_80

60

40

-20 1] 20 40

diff_bpm1X

¥/ ndf

p0

p1 0.1437 + 0.4639

—-3.844 = 3.586

12.03 /7 21

200

100

o

=100

=200

:

~
=
=

-80

-60

-40

=20 1] 20 40

diff_ bpm1X

¥2 [ ndf 20.95/ 21
p0 15.11+ 11.71
p1 2.014 +1.504
1000 [ '
EI}EI:— - _
; _h o
'I}_— { ‘ﬁ
-5[:0:— )
:||||||||||||||||||||||||||||||
=100 =BD 60 40 =20 1] 20 40
diff_ hple
600 = 2 { ndf 23.02 / 21
400 |- n0 4386 + 4.137
! o1 _0.2901+ 0.5263
200
: + H
T M“# el -
—EE'D_—
—4{?0_—
_EIDD ||||II|III|I||||||III|III|II
80 ] =40 =20

%

bpm4aY

2500 ;— 12 [ ndf 37.65/38
2000 -
- p0 -10.28 £ 12.02
1500
- p1 -0.5682 £ 1.5566
1000
500 |- W i{
E M Pt R
500 '
-mnnf—
_15nnf—
—E'DDD'_|_|III|_IIII|IIII|IIII|IIIIIIIIIIIIIIlIIIIlIIII
40 -30 -20 -10 © 10 20 30 40 50

diff_bpmdaY

po

p1

w2/ ndf

0.5129 = 0.4534

37.5/38

-2.201 £ 3.580

=200

~ 400

— 1T I T T T I T T T I T

|

I

5

"-"1

-30 =20

iff bpmdaY

=10 0 10 20

0 40 50

i B 12/ ndf 61.31 /38
2000 B p0 14.34 £ 11.65

[ p1 -0.2439 + 1.5360
1000

- + |

o { P T |

i }} } H_-
—1-I}DU_— -
-E'I}DU_— )

b b b b Lo b bena Lo

=40 =30 =20 =10 0 1m 20 a0 40 50

G600

400

200

=200

;

¥/ naf

pO

E

4705/ 38

3.245 £ 4127

p1 —0.02835 + 0.53134

| Nﬁ*h* gt i Hm

|IIII|III_|J_IIIIIIIIIIIIIIlIIIIlIIII

~40)

-30 W20

gression reg mal

d

2000
1500
1000

200

-500

=1000

=100

%

_bpm4eX

7= /[ ndf 15.6/22
po 1016 = 12.05

p1 -0.7016 £ 1.4216

-80 -60 40

=20 1] 20 40

diff_bpmdeX

w2/ ndf 30.07 / 22
po -3.683 + 3.575
pi 01017 + 0.4289
700
‘H}DE— - Wut
: ] ity |||]H
ﬂ_
- 174
-100
-EHDE— ) {
-:mnf—
_IIII|III|III|III|III|III|III|II
=100 80 B0 40 —20 (1] 20 A0

diff_bpmdeX

2/ ndf 11.32/ 22
p0 16.53 +11.71
p1 1.943 +1.390
500 | E {

F upﬂ“’*"'*ﬂi |
500 ) M
~1000 |

TN AT T A A T T T A O A A O

=100 =80 -0 40 =20 1] 20 A

diff_bpmdeX

600

400

200

=200

400

IIIIJ_IIIlIIIlII

7= [ ndf 18.27 /22
po 4.063 £4.135
p1 —-0.2467 = 0.4869

dét Vs diff bpm-

di
2500
2000
1500

1000

500

~500
= 1000

= 1500

.

7%=/ ndf

p0

bpmdeY

-11

24.34 /40

64 £12.03

p1 —0.8819 = 1.9541

}

——'_——-—.:i,

2

=20

=10 1] 10 20

30

diff_bpmdeY

w2 | ndf 59.32 / 40
po -3.207 + 3.567 | )
p1 0.9825 + 0.5673
of ‘ ““M f 1
~200 i,
=400 |
L1111 I L1 11 I L1 11 I L1 11 I L1 11 I I_I L1 I L1
=30 =20 =10 1] 10 20 an

diff

_bpmdeY

: 12 1 ndf 37.77 /40
2000
I p0 14.36 £ 11.64
000 L { Pl —0.5433 + 1.8982
I | i
o - WWH HW v
. i T |_
—H:?DU_— |
-E{FDU_— i
I TS AT FEETE SN PR
=30 =20 =10 1] 10 20 a0

diff_bpmdeY

%2 [ ndf
p0

pl

0

26.82 / 40

2401 £ 4128

2442 = 0.6666

[y

100

=100

=200

=300

|

iy
¥

t postp

-2{) =10

an.png

diff_bpm12X

%2 [ ndf
po

pi

36.49 [ 41

-6.787 £ 12.021

0.3339 = 0.5225

200

-500

=1000

ST I S N NN T N T T T T A N Y B B

600 - ¥ | ndf 47.97 1 41
i 0 — +
w00 - p 3.306 + 3.565
i pl  —0.01434 + 0.15721
200+ { ‘
of - Jh aal
. }Wi
=200 — ~
i F
400
il | | L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | ||
=100 =50 50 100

diff_bpm12X

12 / ndf
p0

pi

49.67 [ 41

9.622 = 11.606

0.2842 = 0.5075

1000

500

1]

-500

=1000

=1500

—_—

=100

91

~50

iff_bpm12X

50 100

i %2 | ndf 41,53/ 41
600 —

- p0 4675+ 4.115
400 —

- | pl  —0.01664 + 0.17861
200 }

I | | H I

ok (‘W##ﬁ%ﬁ} ﬁ

=200 |
- 400 —

:l | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1

=100 =50 50 100




asym_usl

asym_dsl

asym_usr

asym_dsr

run6782 000 reg

6000 —

4000 —

2000

2000 —

4000 —

6000 —

|
BQDP‘H}D

1000

500 —

500 —

1000 —

diff_bpmXum

l
~1500 5

8000

6000 —

4000 —

2000

2000 —

4000 —

6000 —

difi _bpm1Xum

=100

1000

500 —

500 —

1000 —

=1500 —

diff_bpm1Xum

-80

-6

—4{? E{?

2ressmn'" ~asym main

6000

4000

2000

=2000

~4000

6000

~8000

40 30 -20 10 0 10 20

0 40 50
diff_bpmda¥ium

1000

500

- 500

=1000

=1500

40 30 -20 -1 0 10 20

8000

6000

4000

2000

=2000

=4000

6000

-4 -30 -20 -1 0 10 20

1000

500

=500

=1000

=1500

W 40 50
diff_bpmda/um

0 40 50
diff_bpmda¥ium

IIII|IIII|IIII|IIII|IIII|IIJ_LlIIIIlIIIIlIIII

30 20 -10'®

6000

4000

2000

=2000

~4000

~6000

-8000

-1[?0 -80  -60

1000

200

-500

=1000

diff _bpmdeX/um

=100 -8BO  -60

8000

6000

4000

2000

= 2000

=4000

~6000

—1DD

1000

500

=500

=1000

=1500 —

detvs d

40 <20 1] 20 40

diff_bpmdaX/um

diff_bpmdeX/um

ﬁsf-m

b

—E{?

pmwsca

t

6000 —

4000 —

2000

=2000 —

4000 —

6000 —

~8000 :

1000

S00 -

500

=1000 [~

=20

10 0 10 20 a0
diff_bom4eY/um

=1500 '

8000

6000 —

4000 —

2000

=2000 —

=4000 —

6000 —

=20

_bpmdeY

=10 1] 10 20 a0
diff_bpmday/um

-30

1000

500 -

500

=1000 [~

=1500 —

=20

10 0 10 20 30
diff_bpmdaY/um

-20

_post‘panmni’i

6000 —

4000 —

2000 —

=2000 —

4000 —

-6000 —

_I|IIII|IIII|IIII|IIII|I
'mm-mn -50 0 50 100

diff_bpm12X/um

1000 —

00—

500 —

=1000

AN N T [N T T T T A N Y N T
=1500 =100 =50 0 50 100

diff_bpm1 2X/um

8000 —
6000 —
4000 —

2000 —

=2000 —

=4000 —

6000 —

[N T T T T T N T N N O A O
=100 -850 1] B0 100
difi_bom12X/um

1000 —

200

=500 —

=1000

=1500 —

T T T T T T T T N O T A A

=100 -50 1] 50 100
diff_bpm12X/um




4000 4000 4000 4000 | 4000
0o 3000 3000 0o 3000 —
2000 2000 2000 2000 2000
1000 1000 1000 1000 1000
r l oF ok oF ofF oF
eg_ilsj Ill_ I'IS ~1000 ~1000 ~1000 ~1000 ~1000
-2000 | ~2000 -2000 ~2000 | ~2000
-3000 -3000 -3000 -3000 -3000
-4000 ~4000 . -4000 -4000 . ~4000 .
| —IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII - 1 1 -IIIIIIIII|IIII|IIII|IIII|IIII|II —I|IIII|IIII|IIII|IIII|I
~100 40 -30 -20 -10 0 10 20 30 40 50 ~100 30 -20  -10 0 10 20 30 ~100 50 0 50 100
difi_bpm1X/ium diff bpmdaYium difi_bpmdaX/um difi_bpmdaY/um diff_bpm12X/um
. . ff . . .
| I | | I | I | L
1000 | o 1000 1000 | CoL 1000 | S 1000
500 500 — 500 500 500 —
o ; o o o o i
g— y — 500 ~500 500 500 ~500 -
1000 B ~1000 | R ~1000 - Sl T ~1000 IR ~1000 | ?
_III|III|III|III|III|III|III|I _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII _|III|III|IIIIIIIlIIIIIIIlIIIlI _IIIIIIIII|IIII|IIII|IIII|IIII|II _I|IIII|IIII|IIII|IIII|I
500,00 80 B0 40 20 0O 20 40 18004 e 20 0 0 10 20 30 40 50 1500 Too 80 &0 40 20 0 20 40 B T R S—T 0 10 20 30 1500 —3na 50 0 50 100
difi_bpm1X/um diff_bpmdaYium difi_bpmdaX/um difi_bpmdaY/um diff_bpm12X/um
. . ff . . . ff
4000 4000 4000 4000 4000 —
3000 | i 3000 3000 | 3000 |- o 3000
2000 2000 2000 2000 | 2000
1000 1000 1000 1000 1000
oF ok oF ofF . oF
reg_EIS) IIl— I'lsr -1000 | -1000 | -1000 -1000 ' -1000 oy
- - - - n EE
-2000 ~2000 ~2000 - 2000 ~2000 SO
~3000 - ~3000 |- ~3000 - SR ~3000 |- A ~3000 |- ' v
4000 | -4000 | -4000 | -4000 | -4000 |
prv v bvrr v v b v by bv v I prrr b brrrr e bvv o br v v bevvn b aa Lovv v v bvv e bvvr v v bv v bvv g I prra b vrrr b brrr e bvrra bvr v b I T T N T T N NN TN N N O O B O
-100 -BO -60 -40 -20 O 20 40 40 -30 -20 -10 © 10 20 30 40 50 -100 -BO -0 40 -20 O 20 40 30 -20  -10 0 10 20 30 ~100 50 0 50 100
difi_bpm1X/ium diff bpmdaYium difi_bpmdaX/um difi_bpmdaY/um diff_bpm12X/um
! . [bf ! . ff . . ! . ff
| | | I | |
1000 | 1000 - 1000 | 1000 |- 1000 -
500 500 500 - 500 500 -
ol ol ol ol ol
eg_asym_ds ok ot ot ot ot
~1000 [ ~1000 [ ~1000 [ . ~1000 [ LT ~1000 [
1500 |- o 1500 |- ' : 1500 |- - 1500 |- ' : 1500 [-
i IIIIIlIIIIIIIlIIIlI _IIIIIIIII|IIII|IIII|IIII|IIII|II _I|IIII|IIII|IIII|IIII|I

||||||||||||‘||||||||||||||| Lo b g v vy b bevrs bovna Bvvaa b v [ |1
-4 W20 -40 =30 o =10 =20 =10 1] =100 -50 1] 50 100

run6782 000 resression-reg maindet-vs diff bpm-scat postpan.png-




